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I=(f(x)=2x+2) 2=(f(x)=18x%) P
_ 1544 2 _ 20, 85 3 2j V
I=(f(x)=15x"+15x"+6x) .4—(f(x)—3x 3x 5x S
s 2 5 R LS
NS f(x)=1+2x(3/2)—ﬁ 6= f(X)=_4x(9/4)+5x(1/5)+ 4 _5x(9/5) __f;__
Ans3 = (B = 15+ 85— 26) 8—(f( )__—3x+6 x—4] . a
/= x)=15x X 8= x)= 2& ;
, (f() 17 J P [f() 27x4+2] (I:@
9= X)=—"= A0 = X)=—"FT7"—""
(4x+5) 24/x by,
”_[f( )_—36x2—92x—25j 12{?( )_15x6—14x5—49x4—12x3J U
- =[f(x)= K A2=|1(x)= (x+1)2 | 7]
)
L (00
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Diff02 Answers for No.10426

(v ]

| J=(f(x)=4+6x)

2=(f(x)=12x%)

Ans3 =

3=((x)=35x"+20x"+4x)

S5=11(x) 3 5 1
S=1f(x)=- +5—
2x(3/2) 24/ x

T=(F(x)=30x"+12x+16x +1)
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I=11x)=—"———"—7
(4x-3)
10x°—8x*—15x* =20
1= f(x)= =
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[ I=(f(x)=4+6x)]
2=(f(x)=12x%)
_ _ 2 1 =(f(6)=540) ,Jz[f(4)=_}
At '3_(f(x)_ sz ’ ’A”S2:[.2=(f(1)=-4)}’ A 2= [£(2)= 2592

25 , 9, 10
A=f(x)=—"x ——x"—-——"x
6 5 3
2 34fx 1 1
6= f(x):3x(1/3)+ 2 +3x(2/3)_3x(4/3)
) (f() 3x+10 x—2J
S=|f(x)=
24/x
P {f() 5+13x6j
A0=|f(x)=—""FT7=
24/x
15x" =22 =328 x* - 160 x
12=| f(x)= -
(x—4)
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CI=(f(x)=4x+1) ]
2=(f(x)=15x%)

. (f() 5] 1 =(f(5)=375) I=[f(-2)=16]
—| 3=|f(x)=-—5 _ 4 - 19
Ansl N , Ans2 .2=(f(3)=_j , ., Ansd .2:[“4):_}
5 9 16
.4={f(x)= (2/3)j
L 3x i
)
d=(f(x)=4x+1) 2=(f(x)=15x%) P
_ f _1 4 12 3 1 2 _ f _E 3 1_5 2 l V
3=(Ff(x)=10x"+12x —15x"—-6x) 4= (x)—3x—2x—3 S
15 5 1 1 5 LS.
= fw(x):«/;_zx(z/z)"'1 6= f(x):_6x(11/6)+6x(5/6)_6x(7/6)+6x(1/6) __f;__
_ —3x+44x -1
Ans3 =1 7 (p(x)=32x +18 X +36x+9) .8:[f‘(x)=— J oo ]| @
24/x ¢
9 (f() 20 J 10 [f() lsx(z/z)(“z”)j CIZD
9= X)=—""= 10= x) =
(5x+2) 2 M
8x'+20x -3 x-30 16X +12x" =190 X’ +5x* - 24 x U
Al=|f(x)= 3 A2=|f(x)= ;
L x (x+3) i LL T 1]
2
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A=(f(x)=6x—-4)

2=(f(x)=6x")
2 . _ _ _ =z
P T s N RE LU
) 2=[f(2)=1940]
.4:[f(x)= (2/3)J
L X _
T
d=(f(x)=6x—4) 2=(f(x)=6x") P
3= = 6 3 _( O 2 V
3=(f(x)=28x"+20x —6x) 4= f(x)—zx —4x S
2 5 2 1 2 5 LS
D= f‘(x):s_«/;_zx(z/z) 6= f(x):5x(3/5)+5x(4/5)_5x(7/5)_2x(7/2) __f;__
Ans3=| g px) =4+ 122+ 10x+2) .8:(f(x)=3x+4ﬁ+5J o “
24/x t
21 —2+3x h
= sy B R PEE %
2%’ —16x"~ 15x- 80 5x°-14x"-9x"-20x" - 1847 U
d1=|f(x)= ; I2=|f(x)= -
L X (x=3) ] LL T ]
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[ I=(f(x)=4x+1)]
2=(f(x)=9x")

9
P —— 1= ((5)=300) .1=[f(4)=5—}
Ansl = .3-(fCX)— xz] s An&2:[“2:(f(1)=_12)} , Ans4 = 16
3 2=[f(-2)=-552]
A4=|f(x) :ﬁ

:)
— _ (
d=(f(x)=4x+1) 2=(f(x)=9x) Tpl]
3=(f(x)=18x -=8x =9 x” +2x) 4:[f(x):§x3+2x2+lJ v
' ' 37 747 T2 S
2 5 3 4 14y LS
.5:£f(x)=5—$—2x(3/2)] 6= f(x)=4x(1/4)—3x(7/3)—4x(5/4)+ 3 “i“
Ans3 = —3x+24x -4
B 7 (P(x)=40 X +39 % + 18 x + 4) ,8:(f(x):— ] SN A
24/x t
h
19 182 4 5)
I=|f(x)=—"T"3 10=|f(x)= @
(5x—1) 2 by,
. (f() —15x2—32x—15j . (f() 20x5+55x4—240x3+x2+8x—12] U
. = X)= . = X)=
: X (x+4) | LT
:)
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[ I=(f(x)=10x—1)]
2=(f(x)=9x")

A 1 =(f(6)=432) I=[f(2)=179]
Ansl = .3:(f(x):——2] , , Ans2= .2:(f(-2):§j , , Ansd= '2:[“1):2}
1 4 2
4=|f(x)=—7
_ (”) ﬁJ _
o
_ - o
I=(f(x)=10x-1) 2=(f(x)=9x%) TPT
B3=(P(x)=5x'+8X 4957~ 1) .4:(f’(x):§x2+5xj Lf
3 2 1 3 4 LS
INES f(X):_2x(3/2)+1/;+3 6= P(X):4x(3/4)_4x(7/4)+ 3 _4x(5/4) __f;__
A3 = (P(x)= 60+ 48 x>+ 48 x + 8) .8:(f(x):3x+24ﬁ+5] S
34 5(°+1) h
i S N G v
”_(f( )_—20x3—30x2—24x—24j 12—(1’( )_3x4—6x3—4x2—8x—4J U
- =|f(x)= I A2=|f(x)= (x_2)2 | L7l
:)
R
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Diff02 Answers for No.12219
[ I=(f(x)=8x+1)]
2=(f(x)=15x%)

2
3= (f(x) = ;j

Ansl =

A=(f(x)=8x+1)
3=(f(x)=21x"+16x"+1)

5

5
1=

T=(f(x)=60x"+111x* =10 x - 20)

5= [f(x) =

Ans3 =

9=|f(x)=-——
’ ((x) (—1+3x)2]

5
X
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., Ans2=| _ =l
.2_(f’(2)_ 4)

.6:[f(x):

12x° —15x° =16 x> — 40 25x5 170 =125 x* + 8 X + 64 ¥ + 40 x
A1=|f(x)= 2= f(x)=

A=(f(2)=172) ) 4_[.1:[“-2):1217]
c o ABTEL oo r(1) =-6]

2=(f(x)=15x%)
4= (f(x) =4 x —%xj

3 550" 1 5 J

x(2/5)+ 3 + x(4/5)_3x(8/3)
.8:(f(x):3x+2 x—SJ R
24x
.Joz(f(x):MJ
24/x

(x+5)

|
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Diff02 Answers for No.12954

C1=(f(x)=4x-3) ]
2=(f(x)=15x%) L ((5) - 150)
6 A= =
_| 3=|f0)=—— _ _ .1:[P(1>=-5]}
Anst= ((x) xz] SRR PP PV SIS | A”S4‘[2=[f(2)=-37]
" 27
.4={f(x)= (2/3)j
L 3x i
SR
— _ (
I=(f(x)=4x-3) 2=(f(x)=15x%) TP
3 2 ; 2 V
I=F(x)=4x" -15x"-2x-95) .4:(f’(x):2x —g S
5 (f() S Ja— ] 6 [f() > 1 527 2 J T
D= X)="fm——-3-— .6 = X)=-— - + -
ﬁ x(3/2) 2x(7/2) Sx(6/5) 2 Sx(7/5) __M__
AnsS= ()= 1552 — 42 x - 23) .8:(f(x):3x+24ﬁ_1] R
8 27x° -5 h
9= f(x):_(Sx—l)z 0= £(x) = 5 0 %
. (f() 12x5—15x3—16x2—40] . (f() 15x6—36x5—180x4+x2—8x—12] U
dl=|f(x)= A2=]f(x)=
i X (x—4) | LL7T]]
2
T

X [Page = 0022] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX XX XXX XKKKKXXKXKKKKKKK XXX XXX KKK KKK KKK KKK KKK KK KKKKKK



X Math@MUT XXXXXXXXXXXXXXXXKXXXXXXXXXXX XXX XXX XXX XXX KKK KKK KKK KKK KKK XXX KKK KKK KKK KKK KKK KKK KEXXKKXXXKXXME/1-6700506-00023XX
Diff02 Answers for No.12964

[ I=(f(x)=10x+3)]
2=(f(x)=9x")

3 _ - - -
Ans] = .3=[f(x)=——2j , ,Ans2:['1_(f(4)_96)}, ,Ans4:[-1—[f‘<-2>—993]}
X

2=(f(1)=-12) 2=[f(1)=6]
5
‘4:(f(’”:ﬁj

I A=(f(x)=10x+3) 2=(f(x)=9x%) | :a
p 3 16 , 5, 8
I=Ff(x)=14x" -12x+1) 4= f‘(x)z;x +5x —gx

S N N G O T I - P 2 s IS NS

I 5 3 . 1 5500 5 3
S=|f(x)=2+ + 6=|f(x)=- + - -
2x(3/2) 5 /x 5x(6/5) 3 3 (8/3) 5x(8/5) -

X
Ans3 = 3x—-3+84/x
I o (f(x) =12 + 18+ 4x+ 10) .8=(f(x): [J o
2.[x
(7/2) )
8 x (—27+13x7)
I=1f(x)=—""3, A0=|f(x)=-

(5x-1) 2

; [f() 20x4—19x2—9j . [f() —8x5—33x4+54x2]
. = X )= . = X)=
. x* (x+3) | LT 1]
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Diff02 Answers for No.12971

[ I=(f(x)=2x+2)]
2=(f(x)=12x%)

) 1 =(f(4)=240) _[ _i}
Ansl = .3:(f(x):—;J’ . Ans2 = N ansa=| [ TD=7

2=|f2)=—
; 4 2=[f(2)=1176]
4= f(x)z—j
i ( Jx ) ]
2)
_ ) _ s
A=(1f(x)=2x+2) 2=(1F(x)=12x") P
5 4 3 25 4 3 4 4
3=(f(x)=30x"+20x —12x" —4x) 4= f(x)z;x -5x +§x g
5 1 3 1 34/x 1 LLS ]
J= f(X):1_2ﬁ+x(3/2) 6= f(x):_zx(5/2)_3x(4/3)+ 2 +3x(2/3) __](5[__
Ans3 = ) 3x+4+6«/; a
T=(f(x)=12x"+26x+12) 8=[f(x)= o
24/x t
, (f() 27 ] P [f() 15x3+4] (Zl@
9= X)=—""__ - A0 = X)=—"
(3x-4y 2277 M
10X’ -15x*-12x-15 15x°+48x° +30x" —x* —4x-2 U
d1=|1(x)= p 2= f(x)= ;
. X (x+2) ] LT ]
2)
L (0
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Diff02 Answers for No.13023

[ 1=(f(x)=3+4x)]
2=(f(x)=6x")
3 1 =(f(2)=60) A =[f(-2)=-536]
Ansl = .3:£f‘(x)=— J , , Ans2= P f’(-Z):i , , Ans4d= e f’(l):E
5 2 ’
A=|f(x)=—F
i ((x) 2&)
SR
— T (
d=(f(x)=3+4x) 2=(f(x)=6x") Tr]]
3=(f(x)=24x"+15x" +4 4—(f 2pl8 2] ¢
. _( ()C)— X + X + x) T (x)_zx_5x+2 S
51 4 3 1 3 LS
D= f(x):3+2x(3/z)+ﬁ 6= f(x)z_3x(7/3>+4x(1/4)+4x<3/4>_4x(7/4) __i__
AnS3 =1 7 (P(x) =48 x* + 24 x + 14) .8=[f(x)=—_3x+2?;x_lj n CZ
16 39x7 42 h
9= f‘(x):—m 10= f(x)=w @
M
”_(f( )_—6x4—30x3—8x—25] ]2—[?( )_16x5+19x4—32x3—30x2J U
I G r G (x—1) | LT ]
:)
A
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Diff02 Answers for No.13033
[ I=(f(x)=10x—1)]

2=(f(x)=12x%) .
4 1=(f(2)=36)
_ ‘3:(%):__] _ P :[.]:[f‘(-Z):-452]}
Ans] I i (T VSR | Bt RE RS DR
5 4
.4=(f(x): (2/3)]
L 3x i
2
_ , _ (L
A=(f(x)=10x-1) 2=(1f(x)=12x") P
S ; ) 155 1 v
I=(f(x)=12x +16x +15x7) A4=|f(x)= + g
2 3
3 1 4 1 4 5 LS ]
= f(x):‘zx(3/2)+5+2 x 6= f(x)zsxms)_5x(6/5>_5x(9/5)_4x<9/4) __j;‘[__
= 3x+1+44x
AS3=1  p(x) = 126 + 60 % + T4 x + 20) .8:(f(x):— “/7] o “
24/x t
(3/2) 2 h
9 X 9x +10
.9:(f(x)=——2J -10=£f(x)= ( )] @
(5x-2) 2 by
—12x’ =16 x> —45x - 40 3x'+22x +11x°—40x—20 U
Al =|f(x)= 5 A2=|f(x)= 5
L X (x+5) ] LL T ]
2
:(
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[ I=(f(x)=2x-2) ]
2=(f(x)=18x%)
3
T - B .1=(f(4):144)} _[.]:[f(Z):74]}
Ansl = ((x) sz s , Ansz_[.Z:(f(-l):lO)’ , Ans4 = 2=[f(1)=1]
2
S
_ _ (o
I=(f(x)=2x-2) 2=(f(x)=18x%) P
3=(f(x)=15x"+6x+2 _(f _E4§zl) v
I=(f(x)=15x"+6x+2) 4= (X)—3x+5x - ¢
5 Lf() 5_— > J 5 [f() 1 +4x(”3)+ L2 J i
D=1f(x)=5- - b=|f(x)=-
2& 2x(3/2) 4x(5/4) 3 4x(3/4) 4x(1/4) T
Ans3 = 3 ) ( 3x+2 x—2J , , a
T=(f(x)=48x -2x+36x" +8) S=|f(x)=
24/x t
, [f() 27 j P (f() —5+13x6J g@
9= X)=—" - A0 = X)=—"__— _
(2x+5) 24/x M
11_(“ )_2Ox8+3x5—10x3—24J ]2—(f( )_3x4+16x3—26x2+40x—40] U
- = xX)= K A2 = xX)= (x+5)2 | 7]
2
A
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Diff02 Answers for No.13907
[ 1=(f(x)=8x+3)]
2=(f(x)=6x")

5
3= (f‘(x) = —;]

o)

Ansl =

I I=(f(x)=8x+3)
3=(f(x)=7x"+12x-2)

I
ST T T axmay

60x +15x° —16x°—24

11 :(f(x)z :
L X
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, , Ans2 = .2=(f(3)=-_

|

1= (f(6)=432) 1 =[f(2)=542]
10}, , Ansé= .2:[f(1):£}
27 2

2=(f(x)=6x")

3, 10
4= f(x)zgx +?x

1 1 2
.5=£f(X)=m—3_x(s/z)] '6:(“’“):3)6(1/3)
Ans3 = 7=(f(x)=60x"-12) .8=(f(x)=—

3

34x 1
LS

1 J
(2/3) (4/3)
X 3x

3

3x-5+84/x

24x
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|

2

10 +38 x> —42x—18

S

|

(x+3)

)

1
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